1)Many market breakdowns result in either the demand or supply curve being incorrectly placed for the purpose of achieving socially optimal outcomes.  For each of the following breakdowns, identify if the demand or the supply curve is misplaced and whether it is too far to the left or too far to the right.
a. External cost : supply curve; too far to the right
b. External benefit: demand curve; too far to the left
c. Public good: supply curve; too far to left 
d. A product is viewed as more valuable than it really is.: demand curve; too far to the right 
e. Some people have very low income.: demand curve; too far to the left
f. A low level of competition.: demand curve; too far to the left ( Steeper MR curve and demand curve.) ( larger deadweight loss)
2.  For each of the economies below identify the closest type of market system that describes it.     

Stalinist USSR : Communism

USA: Capitalism

Hitler’s Germany: Fascism

Sweden: Socialism 
3. Use Google or an equivalent to read some more about Adam Smith.  Provide the link and briefly describe what additional information you learned. 






· http://www.econlib.org/library/Enc/bios/Smith.html
· The Wealth of Nations was published in 1776, the same year the American Declaration of Independence was signed and in which his close friend David Hume died. In 1778 he was appointed commissioner of customs. In this job he helped enforce laws against smuggling. In The Wealth of Nations, he had defended smuggling as a legitimate activity in the face of “unnatural” legislation. Adam Smith never married. He died in Edinburgh on July 19, 1790. Today Smith’s reputation rests on his explanation of how rational self-interest in a free-market economy leads to economic well-being.
